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1.

COMMERCE

Tedesgooo
Paper -l

%8 =1

The following accounting standard deals
with amalgamation:

(A) AS-25
(C) AS-14

(B) AS-04
(D) AS-17
Assertion-A : Over-Capitalization refers
to raising more capital than

supported by its earning
power.

Reason-R : Over Capitalization is due
to payment of more wages
and salaries.

(A) Ais correct, but R is wrong
(B) Ais wrong, but R is correct

(C) Both A and R are correct and R is the
correct explanation of A

(D) Both A and R are false

Assertion-A : When share capital is not
represented by the assets
of equal value, it is known
as Watered Capital.

Reason-R : Watered Capital leads to
Over-Capitalization.

(A) Both A and R are true

(B) Both A and R are false

(C) Aistrue but R is false

(D) Ristrue but A is false

Short-term Cancellable Lease Agreements

are called

(A) Financial Lease

(B) Hire Purchase Agreements

(C) Operating Lease

(D)

D) Sale and Lease Back

1. 53 OND 9F°0e30R KETENH50 HodDHSE

5020080008
(A) AS-25 (B) AS-04
(C) AS-14 (D) AS-17

. B 5 (A) 1 9O DoroEdSSE @dm B

Zlop FBEUH055 Qood
A BAEBOBO

90E 070 CSDEIED, DEFTOS,
BTOIT KB Doy
B0 DB

(A) A 5550, 520 R TPR52088 5°¢0
(B) A 5500 5°¢30 570 R 379595500

(C) A, RBocr Twba, modako R, A B3y,
5BCD AdE

(D) A, R 20 Botr Tsmnsd 559

e (R) :

- QBB T (A) 1 Ter SoreFS I, VIFS

HEUN CRE SIS LA
& B3I oS
TP 9O,

SHTTED S0TPeSE800 Do b
B0TOSDESE 23OB00

A) A 000X R 0odr 3PEansd

B) A 558050 R 3o 9P355089 599
C) A 7555500 5°0 R P88 5760
D) R T052056 500 A THE5R0s6 S9e

e300 (R) :

(A)
(B)
(C)
(D)

- RO 5e5 DAL 00 alioedEo

(A) 0% S0 0ot

(B) &2 S50R 00 2650258 €00
(C) es350e30h Sen e9ototh

(D) 950550, T75550 So0 @0t
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5. Assertion-A : SEBI has been entrusted 5. 2% 50 (A) 1 2O E50d55e 508050
[%]

with both the regulatory 58 Boxs 9 <
and developmental §§ﬂ§§® OGY IGO0
functions.
SO (R) 1 28 2§ ITersHo H5o80%0
Reason-R : SEBI has to protect the 52035@350356"60@ SINSCSINS
interest of the fund Sgow

managers and promoters of

A) A 508050 R Dot %3k
the company.

(A)

(B) A 50001 R Botir 55ansd 59
(B) Both A and R are false (D) R THR0 =) A TEB00 T
(C) Aistrue but R is false

_ _ 6. &5 3020 0¥ e NON SIS
(D) Ristrue but A is false ®

1. e Dendd) e5:30e

6. Following are the examples for the 2. N0 esge0
financial assets of the company 3. 50, e Joges

1. Non marketable assets 4. S50 é’)@g@o

2. Marketable assets A) 1 558050 4 S
3. Cash and bank balance B) 1 508050 2 $Ea0

(A)
_ _ (B)
4. Bills receivable (C) 1, 2 508050 3 50
(A) 1 and 4 only (B) 1 and 2 only (D) 2, 3 500k 4 SFED0

(C) 1,2and3only (D) 2,3 and 4 only
7. 50750d Pokots TDoWSS

7. Mutual Funds are governed by (A) e5.9.0.
(A) RBI (B) werchd
(B) NABARD (C) Roress 50 e &5
(C) Capital Markets Board (D) 28
(D) SEBI

8. 52 00 BAI G0 TVSAT T Bewy)H0.

8. State whether the following statements are 1 705 055595550 DoY) 255 3e
true or false : ' ¢ D

1. Shares are the non-marketable 2. mmémeﬁggeﬁ—‘%
securities. 3. 3.8 @0, 0.8 @0, V. D 0, D, G @,8). J e
(€555 350365 ¢S

2. Id i financial }
Gold is a financial asset 4. 3. 8. 9. > 0B 88.8).0. T8

TBs, CBs, CPs, CDs, BAs are money

w

: (A) 1 508050 2 TSI 3 Hodaxw 4
market instruments. SRED S5

4. NBFCs are governed by RBI. (B) 1, 3555005 4 0 552090 2 TH5R056
(A) 1 and 2 are true; 3 and 4 are false EYab
(B) 1,3 and 4 are true, 2 is false (C) ;055%%30?5 4 PRI T 2 Dodako 3
(C) 1 and 4 are false; 2 and 3 are true -

D) 1is false: 2. 3 and 4 X (D) 1 P9530358 5760 2,3 H500050 4 oo
(D) 1isfalse; 2, 3 and 4 are true S50
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9.

10.

11.

Venture Capital is also known as
1. Smart Capital
2. Seed Capital
3. Liquid Capital
4. Watered Capital

(A) 1,2 and 4

(C) 1 and 2 only

(B) 2,3and 4
(D) 2and 4 only

In ‘Rights Issue’ RE stands for
(A) Rights Equity

(B
(C
(D) Ready Equity

Rights Entitlement

)
)
) Regularized Equity
)

Match the following :

List—1 List—2
1. Recourse a. Factoring
Factoring arrangements

to all the parties

2. Domestic b. Buyer is advised

Factoring to pay debts
directly to factor
3. Bulk c. Factor provides
Factoring all types of facilities
except debt
protection
4. Notified d. Client maintains
Factors sales ledger on
behalf of factor

A) 1-c, 2-b, 3-d, 4-a
B) 1-d, 2-c, 3-a, 4-b
, 2-C, 3-d, 4-a
, 2-d, 3-b, 4-c

9.

10.

11.

TR BATOSH0 9T
1. B08ED Boregdsw
2. B B0TCSSH0

3. (555385 SoreesoRa
4. DSBS 5055500
A) 1,2 S08ax%n 4

B) 2, 3 508y 4

C) 1 500050 2 507G

(
(
(
(D) 2 208050 4 G

)
)
)
)
55,268° RE exorr

A) 5, Seded

B) i, e958

C) E85000:5 &eded

(
(
(
(D) R¢gsonrrisossy &adsed

)
)
)
)

ONIIRLINGY)

N —| -l

1. egBad a.

[Slonley §§§>J®§> TEE
585580

EDU‘DQJJ@J
ORI 8D

280t DT LD
T:B@o;ﬁoé’) PISIOM

2. (157002008 b.
585580

3. SoTelssen ¢ wrd gge 89 38

édo@“’afabw@@&oﬁﬁ
TED DG

4. pRSsToTe d. FLS TS A

85 R S0 PBTSIC
DT OED0

A) 1-c, 2-b, 3-d, 4-a
B) 1-d, 2-c, 3-a,4-b
C) 1-b, 2-c, 3-d, 4-a
D) 1-a, 2-d, 3-b, 4-c

[
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12.

13.

Match the following:
List -1 List—2

1. Euro Issues a. Instrument
to raise funds
from different
countries

2. FCCB b. Bonds
subscribed by
non-resident
investors in
foreign
currency

3. GDRs c. Issues
referred in the
European
Stock
Exchanges.

4. MMMF d. Short -term
investments

(A) 1-c,2-b, 3-a, 4-d

(B) 1-a,2-c,3-d,4-b

(C) 1-b,2-d, 3-a,4-c

(D) 1-d,2-c,3-a,4-b

Leveraged Buy-out is

(A) An acquisition of a company with
substantial debt

(B) An acquisition of a company with
substantial equity

(C) Take-over of a company with levered
capital

(D) Amalgamation of two companies
bought by preferred capital

12.

13.

23895800
N —| -l

1. a8 erbeon  a. IS BFOL500E A0

$D0ESer ST

2. FCCB b. JITP0BE KoY e

D2 NS erocoen

H0E%50ed

3. GDR o C. aYor&*Hayoso b;§o

5yposd’ ¥gsTrBoo

2000
4. MMMF d. ozt véderciood
(A) 1-c,2-b, 3-a, 4-d
(B) 1-a,2-c,3-d,4-b

(C) 1-b,2-d, 3-a,4-c

(D) 1-d,2-c,3-a,4-b

DS0EE: S 0R 00 eodm

(A) 968 5563508 2.8 5050 S0t

(B) 0908 50570895008 2.8 S0 57608
(C) 8:5028E S0r0i3Hos $020:80 SRSk

(D) 30 50redind Bot $oude Sasiise

[
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14. Match the following :

15.

16.

14, 2355805050

List-1 List -2
1. Marketing Myopia . Marketing
concept
2. Encyclopedia . Selling
concept
3. Customer . Meta
Satisfaction marketing
concept

4. Non-profit oriented  d. Product
organisations concept

1-a, 2-c, 3-b, 4-d
1-b, 2-d, 3-a, 4-C
1-d, 2-b, 3-a, 4-C
1-c, 2-b, 3-a, 4-d

(A
(B
(C
(D

~— N N

Identify the correct sequence of human
needs based on their urgency in the
descending order :

(A) Self-actualization, Esteem, Social,
Safety, Psychological

(B) Physiological, Self-actualization,
Esteem, Social, Safety

(C) Social, Self-actualization, Esteem,
Physiological, Safety

(D) Self-actualization, Esteem, Safety,
Social, Physiological

Assertion-A : More than 50% of the new
Products fail in the Indian
Market.

Reason-R : They are positioned as are
intended by the Marketers.

(A) Ais correct and R is not the correct
explanation of A

(B) Ais correct but R is wrong
(C) Aiswrong and R is correct
(D) Both A and R are wrong

O — | -l

1. 55°0),¢30/0 ATHAT A, $77T),e300
ERNIN)

2. egid Bso . @R g0

3. PTTE boéggg . DT
$5570),63000
ERNIN)

4. o TR voges d. 5y g0

(A) 1-a, 2-c, 3-b, 4-d

(B) 1-b, 2-d, 3-a, 4-c

(C) 1-d,2-b, 3-a,4-c

(D) 1-c, 2-b, 3-a, 4-d

15. e85 (5008 505 eoroks el e
ESTEOTT S5 (E5008° @050

(A) om0, TS5, IR, BISS, STdE
(B) 798, eso e, 6, A5, FHoes, BSS

(C) s, esdmem,5, A5, aFOE, Qs
(D) es8,77w,5, 75D, BIESS, FHTe, eTIE

16. 230 T (A) 1 5708 55058 50 77508
QoW FNRYVY eTeeYoNo

DOLDT°O

e (R) 1 507060t 7730 oo 6%

5SE° DoBET D
(A) ATe5500 5 R, A £ 806300 568 96
(B) A o550 520 R 3735500 5760
(C) AP0500 5°¢30 570 R 973595500

(D) A 558050 R Dot T80 590

[
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17. Match the following :

List -1

List—-2

1. Shopping Goods a. Intensive

2. Convenience

goods

b.

distribution

Selective
distribution

3. Speciality goods c. Exclusive

distribution

4. Unsought goods d. Aggressive

(
(
(
(

A
B
C
D

)
)
)
)

’
’
’
’

-c, 2-b, 3-d, 4-a
-d, 2-c, 3-a, 4-b
-b, 2-a, 3-c, 4-d
-a, 2-b, 3-c, 4-d

distribution

18. Assertion-A: Marketers want to move
from Introduction stage to
growth stage of PLC as
early as possible.

Reason-R: Rapid product acceptance by
the market.

(A) A and R are true, but R is not the
correct explanation of A

(B) Both A and R are true, and R is the
correct explanation of A

(C) Both A and R are true
(D) Both A and R are false

17.

18.

2385080100500
Nz — |

. QOGS DA

—

FEES S30)eo
(BBS S0

AW

A) 1-c,2-b, 3-d, 4-a
B) 1-d,2-c, 3-a,4-b
C) 1-b, 2-a, 3-c, 4-d
D) 1-a,2-b, 3-c, 4-d
D2y 5o (A) -

(
(
(
(

a.
b.
C.

. CRRIG dxeo d.

o -l
BIRY 302E3
Do Boded
QBTE00%) oD
e9E5083 HoeS

500,028 B0 BT

2.2, Boog), HBT A
EHER00G B 5D DS

e300 (R) -

K070, BB 53 s

(A) A 508ax0 R o osandd =20 R, A
AR08, HOCIRD DE5ED T

(B) As00xo Roocr wsansa R, A dio,

O D5e?

(C) A 500050 R ot T55mpsd
(D) A 500050 R ot T55a05 5559

19. Match the following : 19, essct50
List—1 List — 2 wie-| i -l

1. Cost based Pricing a. Product Line 1. D500 &S c;scmcge‘.’a a. S5 E0 s
method Pricing .

2. Demand based b. Psychological 2. ﬂcbé@@déé:)g@ T
Pricing method Discounting 3. @S@b:;ogcsqscsgxg@ c. dores s

3 Eromotional & SKmming 4 G Tt wgots

4. Promotional d. Mark-up GO
Pricing Pricing (A) 1-d, 2-c, 3-b, 4-a

(A) 1-d, 2-c, 3-b, 4-a

(B) 1-a, 2-c, 3-b, 4-d (B) 1-a,2-c, 3-b, 4-d

(C) 1-c, 2-a, 3-b, 4-d (C) 1-c, 2-a, 3-b, 4-d

(D) 1-b,2-c,3-d, 4-a (D) 1-b, 2-c, 3-d, 4-a

B3 A-03-03 |




20.

21,

22.

When the conflicting channel members
have attitude of giving up rather than
expecting to the relationship, which
strategy is recommended to resolve the
conflict ?

(A) Integration by negotiation
(B) Withdrawing by avoidance
(C) Compromise by sacrifice
(D) Forcing by avoidance
Match the following:
List-1
1. AIDA model

List -2
a. Rogers E.

2. Innovation and b. EImo Lewis

diffusion model

c. Russell H.
Colley

3. Hierarchy of
effects model

4. DAGMAR model d. Robert

Lavidge and
Garry Sterner
(A) 1-a, 2-b, 3-c, 4-d
(B) 1-a,2-d, 3-c,4-b
(C) 1-b, 2-a, 3-d, 4-c
(D) 1-c, 2-d, 3-a, 4-b

Encouraging consumers to pass along the
information about a company’s products
to other is called

(A) Affiliate marketing

(B) Permissive marketing
(C) Viral marketing
(

D) Buzz marketing

20.

21,

22.

2POGSI5H050 FDRCKOCE) S0 DAY 8§75
SORS PTHR A DY Da0sed” DEIEHLD
D0R,008005 295008 OWNVD BOER

(A) $oRB0De Toe DaKSE
(B) B0o0Ss0e) ogor DS DY
(C) Ty ooo° 5ok

(D) &0y0t0E750e) Troe eudd WL

238080000
-1 el |

1. AIDA $%5057 a. Rogers E.

2. §BEI[/0, A35ey b, ElImo Lewis
QRT°°

3. DSBS (KeTD c. Russell H.Colley
QRT7°

4. DAGMAR d. Robert
55257 Lavidge and

Garry Sterner

(A) 1-a, 2-b, 3-c, 4-d

(B) 1-a,2-d, 3-c, 4-b

(C) 1-b, 2-a, 3-d, 4-c

(D) 1-c, 2-d, 3-a, 4-b

H02Q) 53990 MO0 FFBTHHOB BEFTT)
TG WODB0 FPTHTRS W) I

(A) DS 5370 e300

(B) @9:05080t¢s10 5570, e30h

(C) HoEdooin 530),e30h

(D) 8300576 550 e30h

[
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23.

24,

25.

26.

27.

28.

When all companies compete for the same
disposable income of the customers, it is
called

(A) Generic competition

(B) Industry competition

(C) Brand competition

(D) Form competition

Garments division of Anjali group is
generating more money than is required
in order to maintain its market share. What
is it known as in a Portfolio matrix ?

(A) Cowboy (B) Cash Cow
(C) Dog (D) Star

Order processing, inventory management,
materials handling, warehousing and
transportation constitute

(A) Strategic Planning

(B) Marketing

(C) Logistics

(D) Channel Management

Transaction processing system fulfils the

needs of

(A) The middle level manager

(B) Processing day-to-day transactions
(C) Total financial accounting system
(D) None of the above

‘Purchase Consideration’ under
Amalgamation is defined by Accounting
Standard:

(A) 13
(C) 14

(B) 16

(D) 15

Paid up capital plus reserves and surplus
is called

(A) Total capital

(B) Borrowed capital

(C) Net worth
(

D) None of the above

23.

24,

25.

26.

27.

28.

@y F0Ae1, FTTE0 PE) DADEK et
eTPOIBEE SPe3D¢erd

(A) 005 Fed oty

(B) 008 SPe3 e90¢5o0

(C) erocs> ed evotiotss

(D) &35 e evocsncts

K370, 600 TR0 SO ISR (g0

0E3 %0 D00y @023d) (IR C0Rg0 Do
2Z0TFod. BA FRPOAT $rEdnE’

(A) TeraDd eotnsn (B) R esd) evodsoth
(C) 28, w0t (D) Sg8%500 90e5o8s
@IS PEOW, TH ISETe, VEHO O,
AcsoNsses, Skerois S0

(A) To©¥ PeTddstses eosaH

(B) 550,30/ @0t

(C) eresddfy oot

(D) 5578 &gsmes @0t

B (HEA DS BoBRHGE

(A)  S7E508 Trow Doestoio

(B) Carard gt @8

(C) D08 es0¥ e870eIoln e

(D) 3325

D0DS506° S&SoRT00 (HBHOS50 B BN
230630/ (50°e35008° ASEAOWDEIE

(A) 13 (B) 16

(C) 14 (D) 15

DO002aCED BT ESRR0 Bestingen, WrHendo S8
(A) 2008500 BoreES00EaSH

(B) 29 D% S0reEtooot
(C)

(D)

QEE D0 90580
205357 De3D) e0ShH

[sal

[
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29.

30.

31.

32.

33.

What involves the specification of task
activities associated with a particular job ?

(A) Job enrichment (B) Job description

(C) Job design (D) Job analysis

Which of the following is not an approach
to Performance appraisal ?

(A) Superiors rating of subordinates

(B) Subordinates rating of superiors

(C) Third party feedback

(D) Group of superiors rating subordinates
Piece Wage system is suitable when

(A) Quantity is more important

(B) Quality is more important

(C) Both quality and quantity are important
(D) None are important

When an interviewer judges the potential
of an applicant based on one character, it
is called

A
B
C
D

Structural interview
Unstructured interview
Halo effect

Behavioural effect

(A)
(B)
(C)
(D)
Manpower inventory deals with
A) Tangible items

B) Intangible items

C)

D)

(
(
(C) Both the above
(

None of the above

29.

30.

31.

32.

33.

2.5 @ésismm 0820809 5 DOXL A0S
SOIFERNNA

(A) &S31IS05a00eT (B) el d50e

(C) eSyvsnare (D) &1 d50e

B2 &S IS DO eS8 Q0D EHEEFH0
SV

A) D bgcm 80 &R @;Q)o 20 De0D §eaegéa
B

C) S500¢es 558 08), o w58

D) &mss @(;OJJ 5°00 @;oao QR0TTICR DBID
Seed

(A)
(B) &0 000 33960 i 000 570 s 563360
(C)
(D)

NN 23%3: IRES 2)@20:9) Za(gé'é RE RN ON) éocscﬁa)oe'is
ééﬂ:ééag &0LVOH

(A) $055°ea500 TP 20085500
(C)
(D) 28 Saoggso 5%

2 DOGT S0PgE0

2.8 obg WD Hgg SEPRTE METe
eSS0 €985 éoa?:s?séézéo i)gowoéoéaréo

(A) JomyersE qoeabyrg oot
(B) oo 520 50eabs 5 ociotd
(C)
(D)

D) (S50 (Rar5500 €90t

7S (5870 ©90EaEd

003 98 39520620 HA Brwooenod
A) 550200 e0ERoed
K000 908000
C) 230doedd

)
B)
)
D) 28 &:o8%so

(
(
(
(

7
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34. Statement-A : Adam’s Equity theory posits
that an employee who
ﬁercelves inequity in his or

er rewards seeks to
restore equity.

Reason-R : There should be equity in
pay Structure of employee’s
remuneration.

(A) A is correct but R is not the correct
explanation of A

(B) Both A and R are wrong
(C) Alis correct, but R is false

(D) Both A and R are correct

35. Statement-A : Co-operation of the workers

in the implementation of an
incentive scheme is
essential.

Reason-R: Employees somehow devise,
if they do not like a scheme,
ways of evading or
sabotaging the plan.

(A) A isfalse, but R is correct

(B) Ais correct but R is not the correct
explanation of A

(C) Alis correct, but R is false
(D) Both A and R are correct

36. Match the following :

34.

35.

28 aOH 8% wdosrTed”
D080 BEAPODDYE
ISSRRASIISSIRORE: Sg?oe‘éo
DAL (SOIDENTED DeESy
e Do Beodiod
&S00 ESHe 2o H08E"
D080 6000

(A) A 200LHL T2 R, A GA0%); OGP nTolar!

SV
(B)
(C)

SO>S (A) :

e300 (R) -

A 500050 R Bocir srRsRnsd ST
C) A 5063056 529 R 580088 2

(D) A 5580%5 R Botior 980156
ROFES (A): Py EITd @S0

DOX0EIE acs%m@ DSRS0
TP e d50

&Sgoen e 3G SIS IS
PR @BEA0BEE Sa°
IO S5 500 2 ayooedo
SO

(A) A 586058 5265 529 R 06058

(B) A 200HLIE T R, A GA0%); OGP Tolar!
SV

(C) ADB6058 520 R $063058 5750
(D) A 50800 R Bodir 203

e300 (R) :

List-1 List -2 36. eSBEB5 ;
Management Thinkers Books S5 — | S5ss5 —
1. Elizabeth M.Kaplan & a.Quality of % oo
Emery L.Cowerﬁ) Work Kife ?f;m:égé%m&&? v?g;ef “
2. James A. Behoblar & b.Productivity e - ) TEg
Paul O.Po Improvement Q0. TS 200
) PP thr‘?,u Vh 596 P 555
People 2. #5502, b. Seso Tmor eSS
3. William B. Werther C. E/Iakilng FF%E 558050 @é;);%@
mployee oS e
Disgip ine TOLTE
Work 3. oo C. &S50 E3035e
4. Marthen Glenn Cox & d.Interpersonal 8. 56 DAL
Jame Covey EeLpln f B0%0e)
|neduas\{'r?;|r° 4. 5705 RS 5 d. Sro@=¥
Foremen £08050 855 FE0S0E” o BEEH
(A) 1-c,2-b, 3-a, 4-d Kfalbo 08T
(B) 1-d,2-c, 3-b, 4-a G
(C) 1-a,2-b, 3-c, 4-d (A) 1-c,2b,3-a,4-d (B) 1-d,2-c,3-b,4-a
(D) 1-a,2-b, 3-d, 4-c (C) 1-a,2-b,3-c,4-d (D) 1-a,2-b, 3-d, 4-c
[ER 12 A-03-03|




37.

38.

39.

Match the following :

List— A List—-B

Year Growth of HRM in India

1. 1948 a. The Maternity Benefit Act was
passed

2. 1959 b. Factories Actwas implemented

3. 1961 c. Payment of Gratuity Act was
passed

4. 1972 d. The Employment Exchange
Act was passed

(A) 1-a, 2-b, 3-c, 4-d

(B) 1-b,2-a, 3-d, 4-c

(C) 1-b, 2-d, 3-a,4-c

(D) 1-d, 2-c, 3-b, 4-a

Alexander Heighton enumerates four

major determinants of morale which are

i. Confidence of the individual members
in the purpose of the group.

ii. Confidence of the different members
of the group in the leadership and the
ability of the leadership.

iii. Confidence of the individual members
in their fellow workers.

iv. Organisational efficiency.
Its sequence is:
(A) i, iii, and iv, ii
(C) i, iii, i, and iv

(B) i, ii, iii and iv
(D) v, iii, i and i
Mental fatigue arises due to a feeling of
tiredness that crops up in a person while

working continuously on a
operation.

(A) Repetitive
(C) Industrial

(B) Standing
(D) Performance

37.

38.

39.

23BDEOWOR0
Pod = A

JORBTR0
1. 1948 a.
2. 1959 b.

2 —-B
PEoeeSt HRM 28
(RS Erafo 1969500 DADLGHE

§U°&ZT°@® éég;ﬁoo SINRION

RV latela
62053 DO e Dolbeadise

DoaraisRootn 25ypoed Heyteo
Rlev i aa

1-a, 2-b, 3-c, 4-d
1-b, 2-a, 3-d, 4-C
1-b, 2-d, 3-a, 4-C
1-d, 2-c, 3-b, 4-a

3. 1961 c.
4. 1972 d.

A
B
C

(
(
(
(D

)
)
)
)

2000550 DFO00HY TLOND H0GOT OB
BTTOCD 3¢S DFSDETCE

[ S0 GG’ S5B3RS a5 D508
li. TPaX0EBgH0 P TPON) TG 90 P
RRBTETEE") DG B0 B9800

i, 38555 &8 YASSE) QS?S%K% EASICRMINSICA N
iv. ES?SZS@;@(?}( i)";ﬁog o0

T B 550500 :

(A) i, iii, 558c%0 iv, i (B) 1, ii, iii S06a%0 iv
(C) i, iii, i S08aX0 iv (D) v, iii, i 508a%w i
2.8 502, DTPH0500 BE0T® HBFD o H

DD e9BIS’ SR e9650) 509 BINE e

S0M0&008
(A) @sc%@égmm (B) oo

(C) FBF=2b8 (D) es505es

[
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40. McGehee and Thayer recommend which | 40. 35e59,5 exddTrote dgoaowdne McGehee
of the following three-tier approach to 000 Thayer &+ &S [5a°¢H @B )
determine the training needs ? )[R0 2SR DI

i. Organisational analysis I DGO I8

ii. Operational analysis i S0 (9565 I3

iii. Man analysis i, 002235

iv. Assets analysis V. esidoe D3

v. Inventory analysis V. go0d e
(A) i,iiiand v (B) ii and iii (A) i, iii S08a0 v (B) i 08w i
(C) i, ii and iii (D) ivand v (C) i, i B08cxy iii (D) iv 50800 v

41. Which of the following need (s) do notfall | 41. 52 &%% 8" 92 “35er So0AK» @H)D”
under the needs of Training and S50 E S T 9
Development ? i, rCEBE SnosEares

| Techn.ologlcal advance§ i, 50 Dy, 3658
|| grganfsat!ona: complexity i bo@;{%mgb@
i. Organisational tenure V. 50755 BOROTRE &esgo
iv. Human relation movement (A) i SE5 (B) iv 575
(A) Only i (B) Only iv (C) i, iii 556apo iv (D) i, i, il 550003 iv
(C) ii, iii and iv (D) i, ii, iii and iv
42. 5 BSITD oD SEPPRR OIS

42. Blank application form is supplied after (A) @D@mgaomg@g
(A) Preliminary Interview (B) 5o 20803
(B) Scru.tlny of AppllCétlons | (C) strisam o e 3By
(C) Medical Examination of Applicants (D) Q@ﬁaomé@gmﬁaoﬁo@

(D) Exit Interview Time
43. o5 aOH (B IS Dopgon e o

43. Present Performance of an employee is QFO0TE
determined largely from (A) Be5ES Sarer oS50
(A) Advisory evaluation

, _ (B) $0559 S0rergosstm
(B) Supervisory evaluation
(C) Appraisal evaluation (C) So809 Sarerossi
(D) Job evaluation (D) ered Sarergosisis
44. Normally the direct asked price is | 44 TTrUeom SO 9 GO BEEOT 20 68
than the direct bid price. 52 A0 603°0Q0
(A) Equal (B) Greater (A) 5750 (B) Qs
(C) Lesser (D) Minimum (C) sy (D) dor
B3 14 A-03-03 |




45.

Transaction exposure can be hedged
(A) by internal methods only
(B) by external methods only

(C) either by internal methods or by
external methods, but not by both

(D) either by internal methods or by

45.

;55;555(5 @€ 22QN000 @NI B JFon
e9CENOWHT)0

(A) §9 SegBo00 B
(B) 2x0xe3 Se58000 STEI
(C) &8 d¢giomd, 230163 55000, FEET S7Eo

external methods or a combination of S0
both (D) &%0 Be50es, 2axe Betons, o3¢0
46. In Foreign Exchange Markets, ‘American SURNERRY
Quotation’ refers to
(A) Quotation by a US based Bank 46. 203 5Doe 5370),e58° “&IA00ES SIS e
(B) Quotation in New York Foreign (A) &52005° &m0 ergosH §°€30S
Exchange Market (B) womgoireis, 968 ydow 5570y ¢ad® TS
(C) Quotation in which the value of foreign
currency is expressed per US dollar (©) ?:Jj%;?% DU GBS TOHE JH00W
(D) Quotation in which the value of US
dollar is expressed per unit of Foreign (D) @3085° Grody JeusSso - IDZ F3
Currency QBr0e5E D5Bo%o §EISS
47. According to Firm Specific Advantage
Theory, Economy of Scale is achieved | 47+ 908 98007670 SGrofin B0, B0 emres
through R0
(A) Horizontal FDI (A) %080 FDIl o oooe
(B) Vertical FDI (B) dewod FDIlo oo
(©) Sgr?ct?e\ilnlglgilon of Horizontal and (C) 55080, Joo) FDI o Qoo oo
(D) Horizontal or Vertical FDI (D) w5o8e 8o Desip FDlo oy
48. Match the following: 48. eBRCwR
List—1 List—2 P - A 2ok —B
1. BOP a. Difference between 1. BOP a. BRABOLI, AHJBOO B0G
Imports and Exports ey
2.BOT  b. Transactions relating 2.BOT b, ey, anero 5595e
}gntzjoi:]rgwmgs and HOROBCISE
. . 3. T €. TS S0 H0210H000
3. Current c. Transactions relating Ordbeliages
Account  to Merchandise e RDgITTe0
4. Capital d. Difference between 4. Soregs d. $:57%0) Bhode o
Account  Receipts and Payments T
(A) 1-a,2-b, 3-c, 4-d (A) 1-a,2-b, 3-c, 4-d
(B) 1-b, 2-a, 3-c, 4-d (B) 1-b, 2-a, 3-c, 4-d
(C) 1-d, 2-a, 3-c, 4-b (C) 1-d,2-a,3-c,4-b
(D) 1-c,2-d, 3-b, 4-a (D) 1-c,2-d, 3-b, 4-a
MR 15 A-03-03|




49.

50.

51.

52.

Consider

1. Export duty

2. Export subsidy

3. Liberal import entitlement

4. Revaluation of currency

Which of the above policy measures
would lead to an expansion of exports ?
(A) 1,2and 4 (B) 1and 3

(C) 3and4 (D) 2and 4

Assertion (A) : The GATT was applied
only to Trade in
Merchandise Goods.

Reason (R) : The WTO covers trade in
goods, services and trade
In intellectual property .

(A) Aistrue butRis false

(B) Both A and R are true

(C) Both A and R are false

(D) Ais false but R is true

Assertion (A) : The Chairman of World
Bank may be superior

officer of International
Finance Corporation (IFC).

The Chairman of IFC is
appointed by Board of
Governance with the
consent of World Bank.

A) Statement A is true

B) Statement B is true

C) Statement A and B are true
D) Statement A and B are false

Statement (B) :

(
(
(
(

Assertion(A) : Special Drav_vin? Rights
(SDRs) are rights to
draw on the IMF

and are sometimes
called ‘Paper Gold'.
Miscellaneous items
consist of the allocation
of SDRs and statistical

discrepancy.
A) Statement A is true
B) Statement B is false
C) Statement A and B are true

Statement (B) :

A~ AN~ o~

D) Statement A and B are false

49.

50.

51.

52.

AT R
S0E0800
IOB0S 15505500
0B SERG
TS AORS W5
E3R)) DT TR080
D DT DB IO BB IS

(A) 1, 2 50005 4
(C) 3 S00c 4

D30 5 (A) -

(B) 1 500axn 3
(D) 2 52005 4

TEPS 53950 DYFS0BE
5@ GATT 58008
WTO 500, wden, 208

g8 3% & T E[50080
B0

A) A T55%00 R emdnsa

B) A So0aiw R 5055008

C) A So8a¥w R Botsr emrdnsnd
D) A &5 5500 520 R %0850
D30 5 (A) -

e (R) -

(
(
(
(

(QPROW 2175080 I FIGD
SOBTEON ©OE Hog ADI
~Foo0 €5 TUHWYD

IFC ex¢5se 350 ergo
DSBS 5330 570
OO0

(A) OIS ADBADS

(B) ©&J¢sd B oocssd
(C)
(

e (B) :

C) B&Ies A, B e 58a0s9
D) 53¢ A, B oo 8063059 79

QS w50 (A): SDR oo wod IMF Sood
PDEON S8 T e
£ Do oyed® sPAS Y
2IOTTPE00 D)

D98 ©oT R0 @0t SDRo
Bero0), KeToE 53E550

e (B) :

RSIES B 500058 5°¢0
RBTES A 50000 B e 5060305

[
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53. Exposed Assets are those that are | 53. &5 eies e GIE So000ed0d
translated at .
T i. TOEEE e
i. Historical Rate ) 5
ii. Average Rate Hl. wofie 0e
iii. Current Rate i, (@208t
iv. Current and Average Rate V. (X038 B0 e Bew
(A) i, iiand iv (A) i, ii 508X iv
(B) ii, iii and iv (B) i, i 05030 iv
(©) i, i, il and iv (C) 1, ii, iii Ho80%0 iv
(D) only iii
(D) ISR
54. Match the following:
List -1 List -2 4. BB
1. Multinational a. owned and WS- A 2o — B
Enterprise m:ggg;g ?X 1. Sen B oy a. A DT (Seso
different TOB 2 &G
countries QBT
2. Globally b. integrates its 2. Powtooser b. 29¢ Bred® estom
Integrated operations EPGON) o R e
Company located A T
at different )
countries 3. e Ay ool C. i)”fi)§orT° 22630850y
3. Multi-Domestic ~ c¢. sometimes SCERES oD e
Company called a reptlaseVas)
locally responsive DOVKRICIDE
compan
4T onal  d. tak g yl bal 4. eropssdsond  d. 208873,
Jansnational . takes a gioba &yt 500
foreign markets & )00 SRS
production (A) 1-d, 2-b, 3-c, 4-a
(A) 1-d,2-b, 3-c, 4-a (B) 1-c, 2-d, 3-b, 4-a
(B) 1-c,2-d,3, 42 (C) 1-c,2-a, 3-b, 4-d
(C) 1-c,2-a,3-b, 4-d 7
(D) 1-a, 2-c, 3-b, 4-d (D) 1-a,2-¢,3-b, 4-d
55. Leontief Paradox occurs because of 55. Leontief 375ty G50 escoromd
(A) Factor Reversal (A) 500 5o
(B) Factor Price Equalisation (B) &6 05705580 50
(C) Complete Specialisation (C) g @é§§§6m
(D) Complete Standardisation (D) a@ﬂ‘oﬁjogggcjm
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56.

57.

58.

59.

60.

LIBID means

(A) London Interbank Bid Rate

(B) London International Bank Rate
(C) London Interbank Bound Rate
(D) London Interbank Bought Rate

Disbursement of income made by the
assessee, a result of fulfillment of an
obligation on him is

(A) Diversion of Income

(B) Transfer of Income

(C) Reimbursement of Income

(D) Application of Income

Long term capital gain arising on transfer
of equity shares or units of equity oriented
Mutual Funds U/s 10(38) is chargeable to
tax

(A) 10% (B) 20%

(C) 30% (D) Nil

Property income is exempt from tax in the

following case(s)

(A) Income from Farm House

(B) Property income of Political Party
(C) Property Income of Trade Union
(D) All the above

Principal amount of loan waived by the
bank is

(A) Deemed Income

(B) Taxable Income

(C) Notional Income

(D) None of the above

56

57.

58.

59.

60.

ONE eodrr

(A) ©0GS oS0 5065 H& Bew

(B) 00¢:S 08870 a0 Ot

(C) 0t e B¢ &0k Ben

(D) @0t e Ho¢ 8 B

B 20 BPC,S?SQ/BFGJ NIo\S SRS €520 ESTTOIH0
3006 DYoyHew

(A) &0 090

(B) estadd> 2089

(C) estrordsioo GO Treotyy S0

(D) estra 5605

205010(38) (557010 Sed S0e0s Sorgond

oo’ Sadedmere exsoronod) p SR HIsd8
0f) 2 e DT 559 B0

(A) 10% (B) 20%
(C) 30% (D) Nil
58 QD €33 00Cs €STPAT LI0FR0D 530 Q0o

QTEO0Y) oD

(A) Foos® 5063 2006 esTmadH0
(B) cresdamn 0 esd) escrashind
(©)

(D) 29550

S°O,5 o €30 e3P0

@) ©9R300 DB PO S NEI00B
sl

(A) gr0oKeacsd e8T3PaXR00
(B) 5559 QOB e5Tashin
(C) TH05® esTeaoRw

(D) 335

61. Which ITR has to be filed by the Individual | 1. 2ros TS0 o )3 $008 STOHHNID,
and HUF having income from Proprietory -
Business or Profession ? S5%e0ned HUF o0 el 33555008 ITR
(A) ITR-1 (B) ITR-2 (A) ITR-1 (B) ITR-2
(C) ITR-3 (D) ITR-4 (C) ITR-3 (D) ITR-4
[ 18 A-03-03]




62. The following losses cannot be carried
forward, if the Return of Loss is not
submitted in time

i. Loss from House Property
ii. Business loss
iii. Capital loss

iv. Loss from the activity of owning and
maintaining race horses

(A) i,ii and iv (B) i, ii and iii
(C) i &ii (D) iii & iv
63. Interest on securities is exempt from tax

U/s 10, 11 & 13A, if securities are held by
the following

i. Legal authority
ii. Registered Trade Union

iii. Member of Scheduled Tribe
iv. Director of a company

(A) iandii

(B) i, ii and iii

(C) i, iiiand iv

(D) iii and iv

64. Essential Features of tax avoidance are

i. Legitimate arrangement of affairs so
as to minimise tax liability

ii. There is no element of malafide
intention involved in the tax avoidance

iii. Avoidance of tax is not tax evasion
and carries no public disgrace with it

iv. Tax avoidance takes advantage of
loopholes in law

(A) i, ii, iii and iv
(B) i, i and i
(C) i, i &iv
(D) i, iii & iv

62.

63.

64.

RO BRI Hafe By VoVOWEND &
B D00 B0 BR0E) YD eoded

I 20 €58y Boocs D350
INIEVRVACRVIOneS
[TRESSSTA IR
V. o B MOEPe AUGETes 90w ST
00
(A) i, ii S08aoiv (B) i, ii 080k iii
(C) i 500awy i (D) i S08c%0 iv

B3 BIODT rgeoio SR de0a 2%
10, 11, 13A o B5°65% wEFdde 5E8
ML IOLebboN) FTolhblola)

I 06050 9§50
ii. SAr0B TOL vo0
il 2¢rgen B Hebgeo
V. 2.5 5020 Goxw
(A) i SoBas i
(B) i, ii 508050 iii
©) i ii
(D) i $080% iv
5:30) B00C $Ha0tI0E K80 AJooE); B0gg OFETR0
. 5550y 2T ERR:00 DOMOEIED TOHOD
Q8oere
i, 550 B0l BiotETHotd” tating 8
i, 3350y BB B0y KB S HAS®
(922 R EH800BEd

V. 350y $20B08%0eE" $6508R §ste
0006 TPETRITN00

(A) i, ii, iii 558055 iv
(B) i, ii o805 il
(C) i, iii 258050 iv
(D) i, iii 258050 iv
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65.

66.

67.

Assertion (A) : Any rent or revenue
derived from land which is
situated in India and is
used for agricultural
purposes is agricultural
Income.

Reason (R) : Surplus arising on transfer
of agricultural land in urban
area is agricultural income.

A) Statement A correct, but R is incorrect
B) Both A and R are correct

C) Ais wrong, but R is correct

D) Both A and R are incorrect

(

(

(

(

Assertion (A) : The notional profit arising
from transfer by way of
conversion of capital
assetinto stock-in-trade is
chargeable to tax in the
year in which stock- in-
trade is sold.

Reason (R) : For the purpose of
computing the capital gain
in such cases, the cost of
capital asset shall be
deemed to be the full value

of consideration.

(A) Both A and R are correct and R is the
correct explanation

(B) Both A and R are correct but R is not
the correct explanation

(C) Aliscorrect but R is incorrect
(D) Aisincorrect but R is correct

Assertion (A) : Family Pension means a
regular monthly amount
payable by the employer
to a person belonging to
the family of an employee
in the event of his death.

Reason (R) : Family pension is taxed
under the head ‘Income
from Salary’.

A) Ais correct but R is incorrect
B) Both A and R are correct

C) Aisincorrect but R is correct
D) Both A and R are incorrect

(
(
(
(

65.

66.

67.

RO
D30 5 (A) - 3080578° ol
SEITPONRKNED &533PRoW

> Bo0d SD) ¥R
TR :s?szs@@oi) e373°00R0

ST O)NY)

o0 (R) 1 5663 (@708 Ig9rad gl
) z%meaé% 550y oo

DGO eTTOBED DI

A) RIS A 5830 520 R 5003000 596

B) A Sodaio R 3o 8308

C) A 0030 5°¢0 520 R 358030058

D) A 508a%0 Roocs $0a3odd 599

B TEe (A) 1 SoroPsS ey STFHS
DO BE0) wWORS HB)
2P0 g0 &8 L0 @;’b&é
VOB BT oS® DIEo KB
(ON)lrblelal

(
(
(
(

e (R): & Do U‘b@@s JOTOE S

ORAPVOCIIERIGE PRCINRIAR S

JoroFS &y Igayoone,

PORTPO 0B 0 JOOI IO

AUV e8)

(A) Asodams R Bocsr 006353, R $6a0is
B Tetar)

(B) A 50005 R Bodsr 086353, R 5060w
0TI T°CO

(C) A 058 R 5063058 o
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68.

Match the following:
List—1

1. Amortisation of
expenditure U/s
35 DDA

2. Tax rates for every
Assessment year

3. Arrears of rent U/s
25B

List—-2
a. Receipt basis

b. Exempted

c. 10 years

4. Salary of diplomatic d. Finance Act

68. 2BIEHWORD

D — A

1. 5% 35 DDA

@5°5o gpdoa
220089 TP

2. (%S T00Lw

pSle][PeIS)

3. 255025 B oS &2

20S°00

4. &350me5 5800 oo

>N — B

. RRIP0 esS°E0

B IoLebbloN)!
. 10 Son e

. 830800
() 5]

personnel e. 5donen
e. 5years (A) 1-e,2-b, 3-c,4-a
(A) 1-e,2-b, 3-c,4-a (B) 1-c,2-d, 3-b, 4-e
(B) 1-c,2-d, 3-b, 4-e (C) 1-c,2-a, 3-b, 4-d
(C) 1-c,2-a, 3-b, 4-d (D) 1-e,2-d,3-a,4-b
(D) 1-,2-d,3-a,4-b 9. BHSHBIKD
69. Maitch the following : e — | D — |l
List -1 List -2 1. 0 e a. 200%
. Rate of Depreciation a. 200% DAoBOW IEHR00eT
on Air Pollution Control 2 BEMOEO Oed
Equipment 55024 (b) b. 100%
2. Deduction U/s 24 (b)  b. 100% S50 BRoY
3. Deduction for c. 30% . 253 35 (2AA) c. 30%
contribution to IIT ©5°60 T 5y
U/s 35 (2AA) H0T° P BASYH
4. TDS forpaymentof  d. 20% . b5 dar 58l d. 20%
non-resident sports 9 Em oIS
person or Sports ) Doye » TDS
Association e. 175%
e. 175%
(A) 1-b, 2-c, 3-a, 4-d
(A) 1-b, 2-c, 3-a, 4-d
(B) 1-d, 2-c, 3-e, 4-a (B) 1-d,2-c, 3-6,4-a
(C) 1-c,2-b, 3-a, 4-d (C) 1-c,2-b, 3-a, 4-d
(D) 1-e, 2-d, 3-c, 4-b (D) 1-e,2-d, 3-c,4-b
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70.

How will the Arithmetic Mean be affected
by adding a constant ‘a’ to every item ?

(A) X+a B) a+X

o | X|

(C) X- (D)

Para-Phrasing

Answer the Questions from 71 to 75 by
reading the following passage.
Fun-Spot Fun Park began as a small
amusement park in 1985. With nothing
more than a merry-go-round, a slide, pony
rides, and an ice cream stand, Fun-Spot
grew into a popular family attraction with
20 rides, a restaurant, and an outdoor
performing arts theatre.

“My wife, Gail, and | didn’t know what we
were getting into,” commented Ron Hart,
the owner. ‘We just knew that weekenders
coming to the lakes in our rural area
represented an untapped market’.
Today, thousands of visitors flock to Fun-
Spot —families, children of all ages, even
senior citizens who enjoy strolling through
the gardens and arbor.

“There’s something here for everyone,”
Gail Hart said with a smile. “Dozens of
companies hold annual company picnics
here. We have welcomed class field trips.
And we even had one wedding here at the
park.

“Here’s the funny thing”, Ron chimed in.
“We really don’t know why we’ve been so
successfull. There is nothing else like Fun-
Spot Fun Park in the area. We were just
lucky.”

“I think it’'s the ambience of the park”, Galil
added, “that has brought so many visitors.
We provide a ‘total package’ of
entertainment. Plus, we try to change our
rides and various attractions from time to
time.”

Ron and Gail admitted that making every
visitor happy is a priority. “That has always
been our philosophy,” they said. “And
we’ve always been able to deliver on that
because we’ve never allowed ourselves

to grow too big too quickly.”
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71. What are the critical factors leadingtothe | 71. 55 &7e5 desabsoso emesso Sosoz=8 9
- ?
success of Fun-Spot * (A) IVBO0TT D DS TyeS SoEHoo B¢
(A) Fun Spot placed the consumer at the 2 ORoS “
center of their focus 2 5
(B) No local competition (B) o5 S
(C) Little Competition (C) e el
(D) All the above (D) o050
72. Where in the BCG matrix does Fun-Spot | 72. BCG 57358" 98 Jme5 38,65 08 9
?
fall (A) ETagssn (B) S
(A) Question Mark (B) Star ®
_ (C) Siss Ao (D) D3 23D
(C) Cash Cows (D) EitherBorC

73. Who comprises Fun-Spot’s target market ? 73. @Sa?igﬁﬁwabﬁés PITA0 2 (@8

(Primary Target Market) R )

(A) Families with Children (A) Sgof SHexoere

(B) Families with elderly parents (B) 505050 005 8O Hogos Henoered
(C) College going youngsters (C) 580 3%) Ved

(D) Middle aged people (D) 0635 500K,

74. What are the possible emerging [ 74. <5 3a:555 950m 35 o535 53 SONTES
conditions that may cause the Harts to gwfge?m @‘is gdoi“j);iazgo Koo 56s s
develop a downsizing strategy at . o
Fun-Spot ? €005 HORBSD ?

(A) Less profitable operations need to be (A) 555 ogrdiy) 0Tk Haird
eliminated (B) 0¥ Bron
(B) Economic Recession ©) 58 o TN B0 Bays
(C) A new competitor may down size
(D) 2800
(D) All the above =

75. A company’s pricing strategy should do 7S gz;is?jb @O e, Q2% & @‘8‘)&
all of the following EXCEPT )

(A) give direction for price movements (A) 5% 228 HERSE” $8 505D o8 T
over the product life cycle WD)

(B) define the initial price (B) @rSoey $35:50 AT5o 5E50y80

(C) i%ncire th@} ttﬁfgeting and positioning (C) 5021 e3Bedoh 58 g IGDey Hidayo
strategy of the compan
. ¥ . bany (D) £5°3),30% 5008 QoRT wodtwed’

(D) interact with other elements of the 55 50
marketing mix U
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Space for Rough Work
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